12. Logistic growth model: P(x) =

Complete Graphs

For each of the following functions, find a viewing rectangle that shows the important
features of the graph. Find the dornain and range, x and y intercepts, all asymptotes
(horizontal, vertical and slant), local maximum and minimum values, the basic shape and
end behavior. These functons have been carefully selected so that you will have to use
your knowledge of the graphical properties of lines, quadratics, cubics, rational,
wrigonometric and exponential functions to be successful. Good luck!.

1. y =.002x + 436 7 , . T -

—
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2. y=5 x+0.1

3. f(x) = x> ~2x + 100
4' g(x)*|99+2x—x2] = . Y e,

5. y--:x3-2x2+x—30

6. fx)=2-(x~- 1)*  compared to g(x) = 2-(x-1)* - :

3
1000V x—~1+1

7. f(x)=x¢+8x3+6x2-—8x—3

8. g(x)=2x" +9x> +9x%- 19x +3

X+5
9.y= X4+ 15
10, y = w——

Y lx-—ZO‘

11. Formula for $1000 compounded at 6% annually for x years: y = 1000 (1.06)%

99 o where P(x) is the population at dme X.
+99 e
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13, f(x) =
X?’ -9 ‘§ .

4. gx) = — compared with h(x) = !

3x2—Sx + 7 3Ix2 - 5x -7

15. Graph each of the following funcncns scparatcly using the trig zoom option.

What is going on?
some phat 15 Tthe P”‘“’""L

SCC X

) 10 = o x v oot x

b) g(x)=sin 49x

e e Y7 s Uax) wf N = couns (4857

16. Graph each of the following functions separately using the trig zoom option.
What is going on?

a) f(x)=-sinx b) g(x) = sin 47x
17. Find a viewing rectangle that shows one period of f(x) = sin x + cos x. ’
18. Find a viewing rectangle that shows one period of f(x} = sin 48x.

For some functions, you may need to show the graph in different windows to demonstrate @
all the properties.

2+ x4+ 1

19, f(x) = )
x>+ 2x
-2

20. gx) =

21. Show the all intersection points for: y =4* and y = x*,

2

22. Show the all intersection points for: y=x“ and y= %1%,

23, y= 228
i
24, f(x) = 3 compared to  g{x) = 3

4% = 4 sin x + .001

4x — 4 sin x
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